Subject: Re: Problem in converting birth date CMC from Afghan calendar to
Gregorian calendar
Posted by tomtom_m on Tue, 14 Mar 2017 10:20:48 GMT

View Forum Message <> Reply to Message

All, here is some STATA code that does the same thing. (Substantively debugged, remaining
errors are still my fault!)

We impute days of birth for mothers and children which is also required for more precise
estimation of child mortality, and then create Gregorian CMCs.

** STATA CODE TO TRANSLATE PERSIAN TO GREGORIAN CALENDAR**

*BIRTH DATES**

*MOTHERS*

gen v010g=v010+621 /* Gregorian year at 21 March of Year of Birth*/

gen leapyear = mod(v010g+1,4)==0 /*is the February of the following year a leap year? */
gen v009day = runiformint(1,31) if inrange(v009,1,6)

replace v009day=runiformint(1,30) if inrange(v009,7,11)

replace v009day=runiformint(1,29+leapyear) if vO09==12

gen momdays= (v009-1)*31 + v009day if inrange(v009,1,6) *momdays= days from 21 Mar*/
replace momdays=186+(v009-7)*30+v009day if inrange(v009,7,12)

gen DoB = mdy(3,21,v010g)+momdays
format DoB %d

gen v009g=month(DoB)

gen v011lg = (year(DoB)-1900)*12+v009g
move v009g v009

move v010g v010

move vO01lg vO11l

move DoB v011

la var vO09g "Gregorian month of birth"
la var vO10g "Gregorian year of birth"
la var vO11g "Gregorian CMC of birth"
la var DoB "Gregorian DoB - imputed"
drop leapyear momdays v009day

* CHILDREN*

local border 01 02 03 04 0506 07 08 09 10 111213141516 17 18 19 20
foreach item of local border {

gen b2g_‘item'= b2_"item'+621 /* Gregorian year at 21 March of Year of Birth*/
gen leapyear_'item' = mod(b2g_'item'+1,4)==0

gen bl_‘item'day = runiformint(1,31) if inrange(b1_‘item',1,6)

replace bl_‘item'day=runiformint(1,30) if inrange(b1_‘item',7,11)

replace bl_‘item'day=runiformint(1,29+leapyear_’item') if b1_‘item'==12

gen kiddays_‘item'= (b1_‘item'-1)*31 + b1l_‘item'day if inrange(b1_‘item',1,6) /*kiddays= days
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from 21 Mar*/

replace kiddays_“item'=186+(b1_‘item'-7)*30+b1_‘item'day if inrange(bl_‘item',7,12)

gen DoB_item' = mdy(3,21,b2g_‘item')+kiddays_item'
format DoB_item' %d

gen blg_‘item'=month(DoB_item’)

replace b2g_‘item'=year(DoB_"item")

gen b3g_'item' = (b2g_'item'-1900)*12+b1g_‘item'
drop kiddays_item'

drop leapyear_item’

drop bl _‘item'day

move blg ‘item' bl ‘item’

move b2g_‘item' b2_ item’

move b3g_‘item' b3 _item’

move DoB_‘item' b3g_ item’

la var blg_‘item' "Gregorian month of birth"

la var b2g_"item’ "Gregorian year of birth"

la var b3g_"item' "Gregorian CMC of birth"

la var DoB_"item' "Gregorian DoB - imputed"

}

*INTERVIEW DATES**
gen v007g=v007+621 /* Gregorian year at 21 March of Year of Birth*/

gen intdays= (v006-1)*31 + v016 if inrange(v006,1,6) /*momdays= days from 21 Mar*/

replace intdays=186+(v006-7)*30+v016 if inrange(v006,7,12)
gen Dol = mdy(3,21,v007g)+intdays

format Dol %d

gen v006g=month(Dol)

gen v008g = (year(Dol)-1900)*12+v006g
drop intdays

move v006g v006

move v007g v007

move v008g v008

move Dol vO08

la var vO06g "Gregorian month of interview"
la var vOO7g "Gregorian year of interview"
la var vO08g "Gregorian CMC of interview"
la var Dol "Gregorian date of interview"

*SWAP GREGORIAN AND PERSION DATES**
rename v006 vOO6p
rename v006g vO0O6
rename v00O7 vOO7p
rename v007g vOO7
rename v008 vO08p
rename v008g v008
rename v009 vO09p
rename v009g v009
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rename v010 vO10p
rename v010g v010
rename v011 vO11p
rename v01lg vO11l
rename bl (##) blp_ (##)
rename b2_(##) b2p_(##)
rename b3_(##) b3p_(##)
rename blg_ (##) bl_(##)
rename b2g_(##) b2_(##)
rename b3g_(##) b3_(##)
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